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SECTION 2.2 FUNCTIONS AND THEIR GRAPHS
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EXPLORATION 1

For each of the following points determine which Quadrant they are in. Then plot the ordered

pairs on a coordinate plane.
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EXPLORATION 2

Make a table of 8 input-output pairs for each of the following functions. Plot these ordered pairs
as points on a coordinate plane using graph paper. Guess how all the other points that satisfy
the rule for f would be plotted, _sightlx s(lﬁtch in the rest of the graph of each function.
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EXAMPLE 1

What is the rule for the function with f(2) = 5 and f(4) = 7 which has a straight line as its
graph?

Input = & | Output = f(x)
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EXAMPLE 2

What is the formula of the function f that has the following input-output pairs and has a graph
of a straight line?

A A
Input = 2 | Output = f(z) =y | 3x
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0 == 0
1 2 3
2 < 7] T
3 8 i
4 1" 12
5 /4 15
x f(CE) = 3)4 "l 3Ix
V
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PROBLEM 2

Consider the graph below of y = f(x):
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1. Identify 5 points on this graph.
(-5:6);(-2-4);(-1,-2);(0,0) ; (1, 215 (2,4); (36)
2. How could the graph be changed to make it easier to locate your points?
AASWUI ch'” \/a/?

3. How much does the output y change when the input z increases by 1?

“,\(_pe/as,e,.( ta a?

4. Using this fact, what is the rule or formula for the function?

‘\O(x)=2)<

EXAMPLE 3

Plot the two points (1, 3) and (4, 9) on a coordinate plane and draw a straight line through them.
Identify other points on the graph. Can you find the rule of the function with this as its graph?

Solution

x | y | Pattern Connection to input
0! [ | + 2(0)
13 ¥ [42(1)
L 1 4] +2 [¢2(2)

T T 2|32 [ 424222 [«2(3)
419 | ¢2 42 42¢2 [ +2(H)

£(x) = 2x +
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Domain and Range on the Graph

EXAMPLE 4

The graph of f(x) is shown below. Use the graph to determine the domain and range of f(z).
Represent them using set notation.
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PROBLEM 3

For each of the graphs use set notation to describe the domain and range.
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Is it a Function?

Not all graphs represent functions. In a function each input is only assigned to one output, but
different inputs can be assigned to the same output. Now we explore what this means for the
graph of a function.

EXPLORATION 3

Look at the two graphs above. One is a function and one is not.

1. For the graph on the left, when = 1 what is the value of y? Is there more than one value
of y assigned to x =17 .

when x= | 3»«,//4{,,25)

2. For the graph on the right, when = 1 what is the value of y? Is there more than one value
of y assigned to z = 17 &Q/E/S

when x=| Uoo L5 OR =1.5

3. Make a table of 6 ordered pairs for each graph. Did you repeat any of the input values? Why
is this important in determining if the graph represents a function?

/jvf\jwc/; w-'H \/av.
_]/MFM‘I’g Ma\a MPU{’ '@f f‘u‘%/‘%(jm(ot\.
A finchion has only one oot for cack 1t
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SUMMARY (What | learned today)
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